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1 Do not open the booklet unless you are asked 1.

todo so. HET 9 S |
_ 2. The booklet contains 35 questions. 2 we-gRaeT # 35 e § | el Pl HH
Examinee is required to answer all i} @ Bad &1 T OMR JARR—YIC W Bl
questions in the OMR Answer-Sheet provided &l B &, W—gﬁﬂ'ﬂ R el | Udh U
and not in the question booklet. Each question 2 3is BT & | FONHD 3 BT YT el g |
carry 2 marks. There is no negative marking.
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3 Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed.
Faulty question booklet due to missing or
duplicate pages/question Or having any other
discrepancy should be immediately replaced.
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Which of the following is not a Microsoft 1. 91 4 9 $F U% A2hidice SR Sl
Desktop Operating System : 4_

oMl T8l @

(A)  Windows 98 A) e o8
(B) Windows 95 (B) 2T 95
(C) Windows ME (C) HEIST ME
(D) Windows 97 [ders 97 R
Whenever a new device is added to a 2. 9 H P T gﬁﬁ (device) B TIEF
computer = system, a new

| _ must be installed before GﬁET STl €, T O Tl ...... . A
the device can be used. é’ U1 | WU (installed) BT =12y

(A) Device driver
(B) Software installer
(C) Device Installer

(D) Device Configure _
The advantage of computerized 3. HYIW HiFS B TN FYhgA il

database over manual database is -

H AN -
(A) We can get the information in (A) B9 @ Sfigar & e AT HT TFQ
quicker way S
(B) Wg can store the information in (B) &9 @ shEar & T B T AR
‘quicker way
(&) For Sol h ' ¢
or Solving the consistency .
problem (C) | THET & [T 29
(D) Al of the above dy) I wh¢
Each is divided into 4 S HIF ANGHT T2 H
Invisible wedge-shaped sections called [ 2ar & e B-

(A) Sector, track
(B) Track, sector

(C) Ring, track

(D) None of the above

5. HYX (Y HAN § IR-aX F&NT & JH

Which memory is used to store most

frequently accessed information? GI)| Qﬂ?ﬂeﬁ FH GBI FAT &-
(A) Cache Memory @%&1 I R

(B) RAM ' (B) ™

(C) ROM (C) T

(D) None of the above (D) T4 & I3 &
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10.

IS used for coverage up
IS used for
apartment, while
IS used for country
or worldwide coverage.

(A) LAN, MAN, WAN
(B) MAN, LAN, WAN
(C) WAN, MAN, LAN
(D) LAN, WAN, MAN

Select the false statement -

to 100 miles:
home and

(A) The quality of image displaying
depends on the refresh rate

(B) Images are formed on the monitor
by series of dots

(C) Picture clarity refers to the quality
and sharpness of the displayed
Images

(D) None of the above

A IS a security system
designed to protect an organization’s
network against external threats.

(A) Firewall

(B) Firefox

(C) Firewire

(D) None of above

The brain of ény computer system is :
(A) Control Unit

(B) ALU

(C) Memory Unit

(D) Allofthe above

Virtual Memory is :

(A) Extremely large main memory

(B) Extremely
memory

large secondary

(C) Andillusion of extremely large main
memory

(D) An illusion of extremely large
. secondary memory

UBLD

.......... 100 HIA T d Gga T4 &

P %1 J4NT 8 3IX STUeHE,
s H TGN M g R fdsg
T UEd a1 & forg foham ST 2-

(A7 LAN, MAN, WAN

MAN, LAN, WAN R

(C) WAN, MAN. LAN

(D),. LAN, WAN, MAN
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11 Which of the following devices can be
used to directly input printed text

(A) - MICR
(B) OMR
(C) OFR
(D) OCR

12 Which of the following is not a Microsoft

Desktop Operating System-

(A) Windows 98 (B) Windows 95

(C) Windows ME (D) Windows 97

13 Whatis the ASC II Code for Number 3?

(A) 00110011 (B) 00110101
(C) 00101011 (D) 00000111

14, Which of the following is not a Keyboard
Type? -
(A) Wireless Keyboard
(B) Ergonomic Keyboard
(C) Flexible Keyboard
(D) Norton Keyboard

15 Towrite 2 GB data which of the following
device cannot be used-

(A) CD (B) DVD
(C) HDDVD (D) DVD-RW

16. What is the full form of TFT?
(A) Thin Feature Transistor
(B) Thin Film Transistor
(C) Thin Flat Transistor
(D) None of the Above

17 All windows have a
located at the top of the window that

displays the program’s name.
(A) MenuBar

(B) Thumbnail

(C) Dialog Box

(D) Title Bar

(A) fdert 98 (B) S 95
©) fSiME D) fer 97
13. §er 3 %gASCHq%’ngw%?
__{A) 00110011 (B) 00110101

(C) 00101011 (D) 00000111

14, frer AT T FETEE B I T &7

15. oy 3 § P-4 g 2 GB i Wied
m%mﬁﬁwwm%—

() HDDVD (D) DVD-RW

(C) R TiT FINEE
(D) ST 7 ¥ FR Tl

17. R e & __ _ FmmE e
ﬁé’m%sﬁéwﬁaﬁr@m%am%m
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17.- Disk cleanup utility services is used for-

18.

19.

20.

(A) Packing up the disk space

(B) Cleaningup unnecessary files on |

your computer
(C) Checkingthe file size
(D) Cleaning the viruses

Which memory is used to store most
frequently accessed Information from the
RAM?

(A) Cache Memory
(B) Main Memory

(C) Regqister
(D) ROM

Which of the following statements are
Incorrect?

a) CRT monitors are slimmest
monitors .

b) Dot Matrix is fastest range of
computer |

c) Cache Memory is slower than
main memory

d) Barcodereaderisan Input device

(A) aandb (B) a,bandc

(C) candd (D) aandd

Which form of memory is volatile in
nature-

(A) RAM (B) PRAM
(C) ROM (D) ZROM
_______ Improves hard-disk

performance by anticipating data needs.
(A) Disk Caching
(B) Disk Defragment

(C) Disk Writing

(D) None of these

&

17.

“IS®p FlFT FRRRE” i SwdifET 2-
N e AT Y 53 3 R
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(C) W3 6T H 3E7 3 fou
(D) a={E & e P R_w

18. Wﬂ%ﬁmﬂﬁrﬁaﬁhﬁwm

qae HiAlex 8T 2
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2l
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20 Which of these characters cahnOt be
used when naming a folder/file :

(A) <> (B) :
(C) \ (D) Allof the above

53 Which of the following Is a file
compression programme?

(A) WinZip (B) Windows
e (C) RADI (D) DOS

24. In WINAOWS .....c.oovveninnans is a power-
saving state.

(A) LogOff (B) Sleep
(C) Restarn (D) Lock

o5 A file in which predefined settings are
used to create general presentations/

documents is called -
(A) Pattern (B) Model
(C) Template (D) Blue Print

26. The process of sending a message to
multiple recipients Is called -

(A) Mail Merge (B) Macro Merge
(C) Mega Merge (D) Micro Merge

57 In MS Word which shortcut key is used
in increase font size-

(A) Citrl+ Shift + > q .
(B) Ctrl+ Shift+< - @ Ctrl + Shift +>
(B) Citrl+ Shift + <

(C) Ctrl + Shift+ +

(D) Alt+ +

28 All formulain MS Excel start with-
(A) 0 ' (B) -+
(C) = (D) =>
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28.

29.

30.

3T,

- R

33.

34.

39.

The unit of measuring clock speed for
powerful microcomputer IS measured In:

(A) Kilo Hertz
(C)Mega Hertz

(B) Giga Hertz
(D) None of the above

Cordless mouse is a device that typically
uses to communicate

with the system unit.
(A)

(B)
(C)

(D)

The process of identifying specific rows
and columns so that certain columns
and rows are always visible on the
screen is called

(A) Freezing (B) Locking
(C) Selecting (D) Fixing
The feature of word wrap is —

Ultrared light waves
Supersonic light waves
Infra-red light waves

None of the above

(A) Automatically move text to the next
line when necessary

(B) Appears at the bottom of the
document

(C) Allows you to type over text

(D) Is the short horizontal line

indication the end of the document
Microsoft Access IS a

(A) RDBMS (B) DRBMS
(C) ADBMS (D) DDBMS

A enables you to view data
from a table based on a specific criterion
in Microsoft Access.

(A) (B)
(C) (D)

Shortcut key to start a slide show from
current slide —

(A) Alt+FS (B) Ctrl+Shift+F5
(C) Ctrl+F5 (D) None of these
Which utility is useful in identifying a
program that is hogging (keeping busy)
the processor?

(A) Task Manager

(B) Device Manager

(C) = System Information

(D) System Manager

Form Query

Macro Report

28.

29.

30.

32.

33.

34.

39.
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Four alternative answers are mentioned for each
question as A, B, C, & D in the booklet. The
candidate has to choose the most appropriate
answer and mark the same in the OMR Answer-
Sheet as per the direction :

For Example :

Question - |

1 @@ @ © O
Q2 ® ® O

[llegible answers with cutting and over-writing will be
cancelled.

5 3

10.

In case the Candidate does not fill the
appropriates circle In the Answer-Sheet and leaves

blank 'Zero' mark will be given.

The candidate has to mark carefully as per
direction the answers on the OMR Answer-Sheet
with black or blue ball point penonly.

The examinee shall hand over OMR
Answer-Sheet to the invigilator and can
take carbon copy of the OMR Answer-
Sheet and question booklet with himself.

Write your Roll Number and other required

4.

6.

¥

details in the space provided on the title page of 8.

the booklet and on the OMR Answer- Sheet with
ink pen or ball pen. Do not use lead pencil.

To bring and use of log-book, calculator, pager
& cellular phone In examination hall 1s

prohibited.

All the questions are bilingual. Incase of any
discripency the question in English shall be treated

as correct.

10.
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